00O
L 2N

0«

Installation Instruction
WS122/WR122




@ )

S ﬁ; C |
d's P
) A ( / —
@ @ EE D @ .
S IER \
o o5 BT
w0 I
c @ :
K%%:; M N
) ( J
o e
e — | e | |

NN NN

1. Tools used: gradienter, screwdriver, silicone gun, silicone, spanner, electric
drill, 9 aiguille, triangle ruler, hammer.




— E—

get the leg fixed after adjustin

get the leg fixed after adjusting

2. Adjust the shower tray to make sure the upper surface of the track is vertical with the wall. The upper side of the shower tray
shall be level and all the legs shall reach the floor.



M4*22 screw —

.

_.--'-""-_._.d_ Cr _—‘_'_"""--—._
Y

|

f—_——__————__

3. Install shower bar.




glass clip

—

"'\—\_\_,_'—F"F-.

v

ﬁ hexagonal spanner

&

M6*10 screw

4. |nstall glass clip for back glass panel.



ST5720 tapping screw .

glass clip

L~

ﬁ hexagonal spanner

ra

ME*10 screw

5. Install back glass panel.




le——

——

—

EL//

ST4720 tapping screw

7

6.Install side columns.




ME6X10 screw __

fixed glass panel

%wj

\

movable glass door

~— M6X10 screw

7. Install hinge for fixed glass panel and movable glass door.




— M6X10 screw

M6X10 screw
|; == \— hexagonal spanner
f

m \\?@M

Pl

fixed glass panel

movable glass door

8. Install glass clip for fixed glass panel and magnetic cylinder for movable glass.




9. Install plastic seal for fixed glass panel.




/AN

mfle——

fi-,
]
<
5 @
N h ©
5 @
)
Bt
A_ T
e

ST5720 tapping screw

[0

10. Install fixed glass panel.




-

—

P

5To2¥20 tapping screw

-

( )
<
@ @ Cﬁj o @
0
= i
== =
< . a
ﬁ__’i// @ﬂ'*\f%%

A
/\\Fx

&E![
iy

1]

ST5720 tapping screw

11. Install seat.




oy

— ST4712 tapping screw

() T

(30 T

| Z —
e {H— R P
o
& & a5 ST
: @ @
@ @ © e 5 @
@ @ o @
Q
| | |
P e %)g
ﬁf:ﬁ -
ﬁf
“ﬁi [
Pl
N p
U

I

e

12. Loosen stainless steel decorative cover on the side panel of front column and take out the screw. Then separate the column

as above picture shows and install inside part of the column.




M22 nut stainless steel decorative cover

..'
[T—
i1 [ lpl— ".II ]III.
2
FEAE——-“_ ﬁ-"\'l/////_\
f )
b
o @ ) )
@ @ Qﬂﬁ © )
@ @ 9 @
L
G i L)
,Ma 87 hmq

13. Install celling shower.




1 | I

()

[ ST4712 tapping screw

el
el T4
@ @ T
& @
0

-

D4t#000d
BHESPRO

S—

14. Install the front part of front column.

Get water pipes and electrical wires connected according to number.




e

12. Install door handle.




lar 0ol

CE 1 gl

16

16. Install movable glass door.




il

S

M6X10 screw—é

MG6X10 screw

L/

17. Install magnetic cylinder on top cover.




mie——]

ST4X35 tapping screw

lapr 0100
B PR

kS

18. Install top cover.



ﬂ
==

M6X10 scre 4 [ = = | 1
P
h
%I o @ 1 Y I&
od % |

=]

0aranod
PR rAc

//

L~

19. Get top cover and fixed glass panels connected. Get decorative aluminum profile
wedged into the column.




M4X25 screw

B

o0

THE RO

— M4 nut

4 o

- U

20. Install shampoo holder.




fad n— top cover
glass [ K

2

==——( e
® AL (

' L ILL

@ g ?c: & I

CER %
i I — o @D
(i L v
glass door b s
N\ K{J_i_ ——

® )

T\- glass dog

colurmn

glass

-1

21. Install plastic seal: please install plastic seal as per picture shows to avoid water leakage and steam leakage




.
()
—
12)\
(o
(3 ~ (/%g
) AL
B
0 °
\1) Pl |||z
_HEHHH“EME gD R
& ﬂh‘ah
th
Kif;i
0
e
|

-

adjust magnetci cylinder

\

D)

..

adjust glass clip

22. Adjust magnetic cylinder, glass clip, door

hinge and plastic seal to get removable doors

closed well.

adjust door hinge

o«m0o0Od
FwE D

adjust plastic seal




------
11111111
aaaaaaa

aaaaaaa
--------

23. Put on silicone at the back side of glass panel.

C 3




-4

,=='°'°'°'-r-_._._— —_-_"_-_-‘-"'*a
o I — ] —11-
— —

) 40 {

DL IIT!
@ @ EE D 6
Qﬁ) T E § ya
& o D
11 Ik o o
KZJQ Bt
) (
.% %-

24. Get water supply and power supply connected and push the steam room against wall . No use within 24 hours until the silicone
IS completely dry.



